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I wpY 12 pynw 7's question while on his stomach in the w710 N1 (in the presence of N7 12 MTYHR ")
a  If: such a 129p (slaughtered wmp mw3) is valid, why isn’t it n¥n (i.e. atones for donor)
i And if: it doesn’t atone, why bring it?
b Answer (¥”): we find that offerings are brought after death of donor without 1%~
i Support: n:2 0p —if a nTYY brings her nxron and dies, her heirs bring her 93n n%y (not inverse; that’s nnn nrvn)
¢ Response (57a7): accedes point re: 091y, but why would an nw be brought if slaughtered nnw% 89% (>not n¥n)?
i Answer (877): we have 9% "7 in our mwn who extends full invalidity from nxon to owr
1 Rejection: looking for a consensus answer; invoking &" is of no help
d  Answer (57aw1himself): v. 1, per application we’ve already used (if proper — 97 if not — nam)
II  Analysis #1: XaR 72 pnx> 3,871 ", joined by »aR, and then later by xran
a  N777,r7.if 5 was bothered by nwR, why was the response ( he supposedly gave) from v. 1? Perhaps nnw5 5w nwr
isn’t brought at all?
i Answer (738): 9" began with v. 2, implying that only nxvn is fully invalidated if nnw% &>
1 Implication: perhaps all others are not only valid, but they are nxn
2 Therefore: he invoked v. 1; brought but as nam (= no %y nx»n)
(a) Challenge: then perhaps nwr should be brought and be n¥n (as v.1 only covers nynow n%)
(b) Rejection (»2ax): bWR can’t be N¥In, 1"p from Ny, which isn’t brought for a xon
(i) Block: nwy is 'n% 993, unlike nwR
1. Save: 5w prove that even without 9%, still not nxn
(ii) Block: mn5w require oo01 and Py N
1. Save: now we have a common denominator of n91p+nmHw:
2. ANwA 7Y 1NYY ROV ONWIY DWITP are valid, but not n¥In 2> YR as well
(iii) Block: mn5w1 n%p can be brought by 1ax
1. Save: nT\n cannot be brought by Max yet has same characteristic
(iv) Block: nmin requires 40 loaves
1. Save: wn>wY N9y disprove that link, as they have same characteristic without onb
(v) Block: nmym pnmbw 0% can all be voluntarily brought, unlike nwx
ii ~ Answer (837): v. 3 —all n17p are compared to DYV
1 Challenge: why compare to mnb>w (lenient); compare to nRon (constricted)?
(a) Answer: v. 2 is exclusive to nxon
I Analysis #2: yam 1,810 "7 joined by nww '3
a 271 7”1 why didn’t X" answer that DwR does come nnn INRY as a "¥M? (animal, once blemished, is redeemed)
i w7 the animal isn’t brought N anR5, rather its proceeds are brought — which may even happen with nxon
1 Case: if someone designated two animals as nron for guarantee (M»NRY) and used one properly
2 And:nonetheless, it isn’t brought, as it is excluded via “®mn” (v. 2)
(a) Challenge: nWR also is defined as & (v. 4)
(i) Block: that is a reference to the status after 118 nvpn (see ahead :1)
(b) However: use of X0 here is for a different purpose — to teach that only an nwx that was redirected to
graze, if slaughtered nnv, is 7w2; otherwise, it maintains its identity as Dwx — as it is X171 (as is)
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IV Analysis #3: nww "1 ,1nm " joined by ninn 92 8T8 9, later joined by »wx
a 27 w7 why didn’t 9" respond to X" that Dwr should be brought and be nx¥n - even posthumously
i Challenge (82110 72 87X "): the nTHY gave birth — not her heirs!
Block (7wx 77): even n19v herself has some nwy nnxn that the N5y expiates — so do the vy
Challenge; this implies that they take ownership;

1
2

(@)

But: 130y "1 ruled that if two brothers inherit a nmn, it may be brought and doesn’t have the deficiency
of pamw nmn (which is invalid, per v. 5

Challenge: now we assume that the w11’ doesn’t take possession

(@)

(b)

However: 130y 1 ruled that if a man left an animal to his two sons it is brought
(i) However: they are not empowered to make n7nn
1. Proving: that they own it; cannot be nn as pamvw
(if) But: if they didn’t own it, they could be 1'nn, as the holders of a single-owned 1127p
(iii) Defense: v. 6 is interpreted as allowing for w71 (even though he doesn’t own it) to be 9’nn, but only
a single v
1. Challenge: if wording of v. 6 limits power to act to single holder, why isn’t 9wyn 18 similarly
limited, per parallel wording in v. 7?
a. Answer: in that case, even if father were alive, partners could redeem wyn
Challenge (»wx "15 208 77): this itself proves our point — that he must own it, as j3nv "3 ruled that only the
19511 may do nmnn (and the 19900 by definition is the owner), per his dictum:
(i) wr7pp:is the only one who must add 1/5% for redemption
(if) 790mp: is the only one empowered to 1nn
(iii) r72m 5w 5p 15wm o7 is the one with the say-so of which 102 gets the nnyn
1. Answer: he does get some “light” 0793, but not the essential 1193 for which this animal was orig-
inally designated
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